FRONT WINGS - USErR MANUAL

C
FUSELAGE | SCREW | SCREW | SCREW | SCREW | SCREW
CODE TECNICAL INFO TYPE KIT A B C TORQUE
LEVIATHAN
Front Wing 950
WLO50/PF T8 MH163 M8x35 M8x40 M8x35 25 Nm
1300 cm?2 - AR 6,68
Front Wing 1150
WLI150/PF T8 MH163 M8x35 M8x40 M8x35 25 Nm
1580 cm2 - AR 8,37
Front Wing 1350
WLI1350/PF T8 MH163 M8x35 M8x40 M8x35 25 Nm
1870 cm2 - AR 9,75
Front Wing 1550
WL1550/PF T8 MH163 M8x35 M8x40 M8x35 25 Nm
2140 cm2 - AR 11,3
Front Wing 1750
WL1750/PF T8 MH163 M8x35 M8x40 M8x35 25 Nm
2400 cm2 - AR 12,7

Front Wing 699

WMG6G99/PF T8 MH134 M8x30 M8x35 M8x30 25 Nm
880 cm?2 - AR 5,75
Front Wing 799
WM799/pF T8 MH134 M8x30 M8x35 M8x30 25 Nm
1100 cm2 - AR 5,8
Front Wing 899
WM899/PF T8 MH135 M8x35 M8x35 M8x30 25 Nm
1383 cm2 - AR 5,8
Front Wing 999
WM9O99/pPF T8 MH163 M8x35 M8x40 M8x35 25 Nm

1747 cm2 - AR 5,71

Front Wing 669

MEDUSA PRO

WMPG69 T8 MH165 M8x25 M8x30 M8x25 25 Nm
548 cm2 - AR 8,14
Front Wing 769
WMP769 T8 MH165 M8x25 M8x30 M8x25 25 Nm
700 cm?2 - AR 8,44
Front Wing 869
WMP869 T8 MH165 M8x25 M8x30 M8x25 25 Nm

854 cm2 - AR 8,84

Front Wing 730

WOQO730/PF T8 MH135 M8x35 M8x35 M8x30 25 Nm
1050 cm2 - AR 5,00
Front Wing 835
WOQO835/pF T8 MH133 M8x30 M8x30 M8x30 25 Nm
925cm?2 - AR 7,53
Front Wing 940
WOQO940/pPF T8 MH133 M8x30 M8x30 M8x30 25 Nm
1100 cm2 - AR 8,00
Front Wing 945
WO945/pF T8 MH133 M8x30 M8x30 M8x30 25 Nm

1300 cm2 - AR 6,90




987 cm2 - AR 10,10

RAZOR

BLADE
Front Wing 671
WBG671/PF T6 MH130 M6x25 M6x25 M6x20 1T Nm
570 cm2 - AR 7,80
Front Wing 740
WB740/PF T6 MHT118 M6x20 M6x25 M6x20 1T Nm
702 cm?2 - AR 8,34
Front Wing 800
WB80O0/PF T6 MH130 M6x25 M6x25 M6x20 1T Nm
840 cm2 - AR 7,60
Front Wing 1000
WBI1000/PF T6 MH130 M6x25 M6x25 M6x20 1T Nm

Front Wing 680

WR680/PF T6 MH161 M6x25 M6x30 M6x25 1T Nm
550 cm?2 - AR 8,40
Front Wing 780
WR780/PF T6 MH161 M6x25 M6x30 M6x25 1T Nm
631 cm2 - AR 9,64
Front Wing 820
WR820/PF T6 MH161 M6x25 M6x30 M6x25 1T Nm
746 cm2 - AR 8,84
Front Wing 880
WR880/pPF T6 MH161 M6x25 M6x30 M6x25 1T Nm
843 cm2 - AR 9,20
Front Wing 980
WR980/PF T6 MH161 M6x25 M6x30 M6x25 1T Nm

938 cm2 - AR 10,23

27-V4

OR PRO

Front Wing 775

WRP775 T6 MH161 M6x25 M6x30 M6x25 1T Nm
631 cm2 - AR 9,64
Front Wing 825
WRP825 T6 MH161 M6x25 M6x30 M6x25 1T Nm
746 cm2 - AR 8,84
Front Wing 875
WRP875 T6 MH161 M6x25 M6x30 M6x25 1T Nm
843 cm2 - AR 9,20
Front Wing 975
WRP975 T6 MH161 M6x25 M6x30 M6x25 1T Nm

942 cm2 - AR 10,23

TORTUGA
Front Wing 633
WTG633/PF T8 MH123 M8x35 M8x35 M8x35 25 Nm
1250 cm2 - AR 3,3
Front Wing 790
WT790/PF T8 MH134 M8x30 M8x35 M8x30 25 Nm
1550 cm2 - AR 4,3
Front Wing 1100
WTT100/PF T8 MH134 M8x30 M8x35 M8x30 25 Nm
2100 cm?2 - AR 5,7
Front Wing 1250
WT1250/PF T8 MH134 M8x30 M8x35 M8x30 25 Nm
2400 cm2 - AR 6,5
CERTIFIED FRONT WINGS
Front Wing 590Y
W590Y To MH118 M6x20 M6x25 M6x20 TTNm
650 cm2 - AR 5,2
Front Wing 670
W670 ront Y¥ing FKREO4 1 \in7 | Mex20 | Mex20 | Mexie | 11Nm
570 cm2- AR 7,8 ONLY
SASFOIL

SAB GROUP S.R.L. - Via Guido Rossa 7/9, San Mauro Pascoli (FC), 47039, Italy - Phone 0541931612 - P.IVA/VAT IT03976400402 - SDI KUPCRMI




